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OHBY=AS LB AL LSS 3,000
O=&l 6,000
OHBBSAIBELZTSAY| 6,000
202 Oddl 25,000 25,000 0
01 = LH 4 di 25,000 25,000 0
O3 =sgd =0 25,000
203 YR =&l 5,000 4,800 200
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M ox
40 5 4

- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
HEtHASMEAHEUXS 753,000 676,300 76,700
AHIAAEZH=sMAYE XA 180,000 150, 300 29,700
308 XX SHHSOIH 180,000 150, 300 29,700
01 AIXSHMENEXZ 180,000 150, 300 29,700
OAHMNZE=MIYE XS 180,000
Metdss=sHnzEHIA 240,000 240,000 0
308 XX G SO0l A 240,000 240,000 0
01 AIXSHMENMNEX= 240,000 240,000 0
OXSAdsM2H= U 240,000
AESHASHASTANSETMHAS XS 141,000 114,000 27,000
307 gizto| & 141,000 114,000 27,000
02 QIZ2IA AAIE E X 15,000 33,000 A 18,000
[(JESREHASHOASI S JIAHAUASGNR 15,000
04 SIZ2ISHAAISH E X 126,000 81,000 45,000
OERSHASMAS S ST AIX A 81,000
e Bd=sHOEAHAES S U K& 45,000
HEtA=sHd=2 025 192,000 172,000 20,000
201 et d| 192,000 172,000 20,000
01 AP 22| d| 192,000 172,000 20,000
Ogst=2H| 192,000
OMAHESIEES 192,000
DNEZAMNSMMASI|IBIERS 80,249,389 63,289,655 16,959,734
= 60,627,985
J| 1,413,000
& 18,208,404
EXMEH B2 9,657,715 9,657,715 0
= 8,825,585
& 832,130
403 XX SHHS K20 & 9,657,715 9,657,715 0
= 8,825,585
& 832,130
01 XIS A=Z2E X 9,657,715 9,657,715 0
OS2 9,657,715
= 8,825,585
= 832,130
SIZH BRI AY 33,319,200 35,676,000 N 2,356,800
= 27,766,000
= 5,553,200
403 XX S M S K201 A 33,319,200 35,676,000 N 2,356,800
= 27,766,000
& 5,553,200




AT SENRS=2 SN HEBZSAD
Ha: AEYSAYWARD
Sol: DBABMAASIIBEY CER-ED
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
01 XIS A2 X 33,319,200 35,676,000 N 2,356,800
OKRIJIIEH S XS AL 33,319,200
= 27,766,000
o= 5,553,200
SEAE Y MAMALES NS KA 234,000 390,000 A 156,000
J| 180,000
& 54,000
403 XX SHHS K20 & 234,000 390,000 A 156,000
J| 180,000
& 54,000
01 MXSHHXNE2E =X 234,000 390,000 A 156,000
OEHEH MAMAESHUSI A 234,000
J| 180,000
& 54,000
SIS AR & 5,200,000 7,488,000 ~2,288,000
= 4,000,000
o= 1,200,000
403 RXISHH S X201 & 5,200,000 7,488,000 A2,288,000
= 4,000,000
o= 1,200,000
01 XS A=2E X 5,200,000 7,488,000 N 2,288,000
OsIAHLHAIE A 5,200,000
= 4,000,000
= 1,200,000
FAMXNL I HSt s I AH KR 650,000 0 650,000
= 500,000
& 150,000
403 XX SHHS K20 & 650,000 0 650,000
= 500,000
o=t 150,000
01 XIS A=Z2E X 650,000 0 650,000
FAX L 2D H st s Il A KA 650,000
= 500,000
= 150,000
HAERSESIHPLXA 572,000 0 572,000
= 440,000
= 132,000
403 XX SRS K20 & 572,000 0 572,000
= 440,000
= 132,000
01 AXESHHEE X 572,000 0 572,000
OJHAEESIE=sIIHPRL XA 572,000
= 440,000
& 132,000
CESEsIIHUH 650,000 0 650,000




A= SFMRER 2A MEtd =g
MM NEHA=HHAMAH D
Sol: DBABMAASIIBEY CER-ED
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
= 500,000
& 150,000
403 XX SHHS K20 & 650,000 0 650,000
= 500,000
&< 150,000
01 XIS AE2E X 650,000 0 650,000
OSsJAHUAH 650,000
= 500,000
& 150,000
NEEA=GAIHALZE XS 12,400 24,800 A 12,400
= 10,000
=} 2,400
308 MXISHMSOIA 12,400 24,800 A 12,400
2 10,000
& 2,400
01 IXHHIMNEEXTZ 12,400 24,800 N 12,400
ODNSEMNSEHAIGHHALSE A 12,400
= 10,000
= 2,400
NEEA=EFIAN=EY 248,000 248,000 0
2 200,000
o= 48,000
403 XX SHS K20 & 248,000 248,000 0
= 200,000
o= 48,000
01 AIXISHHM RS2 X 248,000 248,000 0
ONSEXNEZEHAINESH 248,000
= 200,000
& 48,000
DEINSEHYS ALK 416,000 312,000 104,000
2 320,000
& 96,000
403 XX SHHS K20 & 416,000 312,000 104,000
= 320,000
& 96,000
01 XIS A=Z2E X 416,000 312,000 104,000
ONSENESEZIIMME 2SI 416,000
= 320,000
= 96,000
SO HEIEXNE=KSA 185,600 185,600 0
= 128,000
o= 57,600
403 XX SRS R 20| & 185,600 185,600 0
= 128,000
=} 57,600
01 XS A2E X 185,600 185,600 0
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AR sEMNRER SN SRS
Ha: AEYSAYWARD
Sol: DEMATMALSIIBES (SHol: @)
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
HEIEXH 1,200, 104 1,600,000 A 399, 896
403 XX SHS K20 & 1,200,104 1,600,000 A 399, 896
01 XIS AS2E X 1,200,104 1,600,000 A 399, 896
JHEI A 1,000,050
OHESs XM 200,054
SAE=sHIHZZ 2,312,000 2,050,000 262,000
403 XX EHH S R20| & 2,312,000 2,050,000 262,000
01 MXSHHXNE2EE X 2,312,000 2,050,000 262,000
OzA8sgIIHZ22 2,000,000
OgAAHMSHS NS I|HAH 270,000
OJEHAZI XN (U2A H2I|182E2) 42,000
A S otM A Y| X & 229,500 462,000 A 232,500
403 XX SHHMS K201 A 229,500 462,000 A 232,500
01 XS AS2E X 229,500 462,000 A 232,500
DY =sotd & d X & 229,500
METNSEHI2XNH 225,330 204,540 20,790
403 XX SHHS K20 & 225,330 204,540 20,790
01 XIS A2 X 225,330 204,540 20,790
OAHUNSEMDXH 225,330
MNH=ssHXS 89,000 97,400 A8,400
307 2iztol & 35,000 65,000 A 30,000
02 QIZ2IA AAIE E X 20,000 60,000 A 40,000
OAaNMAsA 235 20,000
04 SIZ2HSHAAISHE E X 15,000 5,000 10,000
Od=2XMUHSHE X 5,000
OaNMAsHM=0E X 10,000
308 MXISHMSOIA 54,000 32,400 21,600
01 AIXSHMENEXZ 54,000 32,400 21,600
(NN A=AHEXNES A 54,000
B XHBH A4 24 S} X & AP 529,500 405,000 124,500
403 XX SHHS K201 & 529,500 405,000 124,500
01 XIS A2E X 529,500 405,000 124,500
[ RHBH 24 2 5 X| & AL 529,500
Al SFMAFAIZH I I A A 15,000 15,000 0
303 Z A2 15,000 15,000 0
01 LAZ 15,000 15,000 0
[J Al 2k A4 AFA| ZHIH D Al A 15,000
HsAMSE=FAIML 2D HS S K& 315,000 450,000 A 135,000




2 SENRER
B HBHSABHAN D
9 DBIAYMNASIIBE

AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
403 MR HHS K201 315,000 450,000 A 135,000
01 XX SHMAA2E X 315,000 450,000 A 135,000
OHsAMRZIAL2AIN AL XA 315,000
IENHAESAEH 20,000 20,000 0
307 QI2t0| M 20,000 20,000 0
02 DIZtBAAMEE X 20,000 20,000 0
OF=xHESN=2xH 20,000
LY =IHAI & 30,000 30,000 0
308 AXISHXMSOIH 30,000 30,000 0
01 X HMBAEEXZ 30,000 30,000 0
ORI LM =sIHK & 30,000
=EtE S MO X & 990,000 900,000 90,000
308 AHXI &AM SO0l A 990,000 900,000 90,000
01 AIXHMBAEEXZ 990,000 900,000 90,000
O=Et&=TH oK X & 990,000
SIHLUAIL ACTEH XA 428,400 307,800 120,600
308 AtXI S M SO0l & 428,400 307,800 120,600
01 AXNHMBAEES 428,400 307,800 120,600
OsJIHLUHAIE A E X 428,400
HEMTHEE X = 531,000 177,000 354,000
308 AHXI S M SO0l & 531,000 177,000 354,000
01 AIXHMBAEXZ 531,000 177,000 354,000
OHSATHHSH X =S 531,000
SUOtN B2 e A x| 22,500 45,000 A 22,500
403 ItXIHAMSA201 & 22,500 45,000 N 22,500
01 AIXISHMA2E X 22,500 45,000 A 22,500
Osgotd B8 2s &R 22,500
SHSUNSXNZEI X 95,700 375,000 A 279,300
403 XIS XS K201 95,700 375,000 A 279,300
01 AIXISHMA2E X 95,700 375,000 A 279,300
OsX=UloieXZED| XS 95,700
ESHIAHMLAHARHE X 210,000 210,000 0
308 XX S M SO0l & 210,000 210,000 0
01 AXHNBMNEXZ 210,000 210,000 0
OEsSEIAHINEARHE XA 210,000
SIHALUHAIS ASIH P L X3 A 800,000 0 800,000




Aa SRMURSES FN O HEISsS
HE: ABPsAIMARKD
e DSEAFUMLSIIEIEH (&)
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
403 UHXSHHSA=0l& 800,000 0 800,000
01 X SHMA2E X 800,000 0 800,000
O HLUAMEASIIHPY X E A 800,000
SIHASUHFESR 155,460,367 150,357,217 5,103, 150
2 153,348,875
| 1,284,490
= 827,002
s EX =M 1,639,000 1,786,800 A 147,800
= 1,639,000
308 XXM S0 A 1,639,000 1,786,800 A 147,800
= 1,639,000
01 AXNSHHBLEES 1,639,000 1,786,800 A 147,800
OstdsLdAE X =M 1,639,000
= 1,639,000
MASSEMAF X EH 110,000,000 118,253,700 28,253,700
= 110,000,000
308 XtXIEHH SOl A 110,000,000 118,253,700 A 8,253,700
= 110,000,000
01 IXNHHEBANEES 110,000,000 118,253,700 A 8,253,700
JMAESSEMEAEFHI 2N 110,000,000
= 110,000,000
BASSEXAIANESMAIS 22E(HE) 40,000 40,000 0
J| 40,000
201 £B-2dH| 20,000 20,000 0
J| 20,000
01 At 22l 20,000 20,000 0
Ogpt=2Hl 15,000
ORAESEMYNENSNZENEROUS 15,000
J| 15,000
[E=3=i:] 5,000
OAESEMAZNEMGRFI S A 5,000
J| 5,000
202 odl 20,000 20,000 0
| 20,000
01 = LH YI 20,000 20,000 0
OASSEMNIINSHMERF=E N 20,000
| 20,000
MASSEEANI XS HMALS 22l bl 700,490 740,600 240,110
| 700,490
308 XXM S0 A 700,490 740,600 240,110
| 700,490
01 AXNSGHBLEES 700,490 740,600 240,110
MASSEMAF X EMALS 22l bl 700,490




432 sEMNRER SN HESASYD
HE: ABPsAIMARKD
el SIASHHEED CERED
224 - BB SAEH) - MPAY - BES 0l &t o il HREZ

| Jl 700,490

A=A NAXHE X =M 10,061,340 8,600,000 1,461,340
= 9,359,400
< 701,940

308 AHXIEHHSOIA 10,061,340 8,600,000 1,461,340
2 9,359,400
< 701,940

01 XN EES 10,061,340 8,600,000 1,461,340
OxASclNEAF XS 10,061,340
= 9,359,400
= 701,940

J2E2HAEX =M 73,937 134,177 A60,240
= 56,875
=) 17,062

308 XXM SO0 A 73,937 134,177 A60,240
2 56,875
=) 17,062

01 XML EES 73,937 134,177 A60,240
OZ228XNFX=H 73,937
= 56,875
< 17,062

ERRee RS DAR=N 32,293,600 20,033,000 12,260,600
= 32,293,600

308 MtXIEHMSOIH 32,293,600 20,033,000 12,260,600
= 32,293,600

01 HXHHBAEES 32,293,600 20,033,000 12,260,600
ODesgdEI=AH 32,293,600
= 32,293,600

LA S M HE (RHNY) 30,000 30,000 0
J| 30,000

201 ¢er24] 20,000 20,000 0
J| 20,000

01 AF22t2l ] 20,000 20,000 0
O Yet==2H| 10,000
OsgMElN=MN2ASENEFRAUS 10,000
Jl 10,000
O=gl 10,000
OgesgidEIN=MNE =S AU 10,000
Jl| 10,000

202 o4 Hl 10,000 10,000 0
J| 10,000

01 = LH 4 Hi 10,000 10,000 0
OgsdEEXNSMEEAL 10,000
J| 10,000




AT SENRS=2 SN HEBZSAD
Ha: AEYSAYWARD
Sl SIHASHFES CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
=R ESESNE=PN =SR] 514,000 514,000 0
J| 514,000
308 AHAIEHHSOIA 514,000 514,000 0
J| 514,000
01 HXNHHBHELS 514,000 514,000 0
Dg=g2F XS HMBEH 514,000
J| 514,000
AR R NSRS NN 108,000 78,300 29,700
308 XX EHHSOIA 108,000 78,300 29,700
01 HIXNHHBNEES 108,000 78,300 29,700
ORIN=sSXNSAFH XM 108,000
IS HASSUXNZ ALY 848,500 848,500 0
UdrsSHASSUXHAE =T 16,000 16,000 0
201 et 9,000 9,000 0
01 At 22l 9,000 9,000 0
Opt=ZHl 5,000
Olt+=ltASEUH2ENES RS 5,000
[E=3=3:] 4,000
Ot=sitASSUHFASAHI 4,000
202 Odl 7,000 7,000 0
01 = LH 4 bl 7,000 7,000 0
OshASSUHERSFAOH 7,000
ZEAMUESH AL 180,000 180,000 0
307 glz2+ol & 180,000 180,000 0
04 QIZFHALAIH E = 180,000 180,000 0
OZSAMLESESHA 180,000
H=FSESIXE 600,000 600,000 0
403 Ut ES X201 & 600,000 600,000 0
01 XXM 22 = 600,000 600,000 0
OsHeEd=2 Y4 600,000
sl SE 52,500 52,500 0
403 UHXSHHSA=0l& 52,500 52,500 0
01 HXSHMA=E X 52,500 52,500 0
Ot-SsdMBIMSH 52,500
FTACHS ot ==t 2 B S T D ALY 29,016,200 48,116,541 A 19,100,341
J| 20,536,000
=) 8,480,200
DS EMAALS HE ALY 14,573,950 17,239,050 A 2,665,100
J| 10,051,000




A2 SENRER SN HBYEAD
HE: ABPsAIMARKD
S FTAS =M S HANM DAY (&)
= — — L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
< 4,522,950
403 MtXISHHSA=0l& 14,573,950 17,239,050 A 2,665,100
J| 10,051,000
< 4,522,950
01 XM A=2E X 14,573,950 17,239,050 A 2,665,100
On=NEZEHANLSEHS AL 14,573,950
J| 10,051,000
< 4,522,950
DA HMAXIIBFELALS 11,137,000 11,755,125 A618,125
J| 10,360,000
< 777,000
403 XIS E X201 & 11,137,000 11,755,125 A618,125
J| 10,360,000
< 777,000
01 X SHHA2E = 11,137,000 11,755,125 A618,125
O 2 AT IBFE A ALY 11,137,000
J| 10,360,000
= 777,000
L2202 0IEE S AALY 181,250 326,250 A 145,000
Jl| 125,000
< 56,250
403 HXSHHSA=0l& 181,250 326,250 A 145,000
J| 125,000
< 56,250
01 X SHHMA=LE L 181,250 326,250 A 145,000
ON=ZO0tAIEE &AL 181,250
J| 125,000
< 56,250
RS PR s RN [l 1,328,000 1,400,000 AT2,000
403 MtXISHH S =0l & 1,328,000 1,400,000 AT2,000
01 XM A2E X 1,328,000 1,400,000 AT2,000
OS5 EH X 863,000
OB MMHEZLSEMIXR 210,000
OFTASUH M 2=~ S35t 255,000
FEMUARSIIEIRE 50,000 50,000 0
307 glz2+0l & 50,000 50,000 0
02 HAFHANGEEE 50,000 50,000 0
O 2SAMLERSIERS 50,000
MEAADAIE A =0 X & 1,125,000 675,000 450,000
308 Xt XIEHH SOl A 1,125,000 675,000 450,000
01 HXNHHBHELS 1,125,000 675,000 450,000
OMSAAMBAIZE A =01 X & 1,125,000




2 sEMRS3 SN HBSYD
B HEHFSARWAR D
I FTAHS UM S B YN DALY (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
DA S A A HEILAI A 15,000 0 15,000
303 Z& = 15,000 0 15,000
01 243 15,000 0 15,000
O ==& S S A AR EIOLAl & 15,000
HAMMSSIAG 22X 300,000 0 300,000
308 XX EHH SOl 300,000 0 300,000
01 HIXNHHNBNEES 300,000 0 300,000
O MSSAIAAMG 2 XS 300,000
JIISHSIHSANEU=MASSIBAIEES 306,000 0 306,000
403 MtXISHHE X201 & 306,000 0 306,000
01 X S22 = 306,000 0 306,000
II=HsHSAE M4 FSIIBAIEEA 306,000
S SHASSUXN A 542,100 636,850 A 94,750
J| 30,000
< 512,100
AR =N ESEH 43,500 76,850 33,350
J| 30,000
< 13,500
403 A X EHS =0l A 43,500 76,850 A 33,350
J| 30,000
< 13,500
01 X SHHX2E= 43,500 76,850 A33,350
OsflJRel==dstEssd 43,500
J| 30,000
< 13,500
S MAANLZHSAN DX 360,000 525,000 A 165,000
403 MHXSHHSA=0l& 360,000 525,000 A 165,000
01 HXSHMA2E X 360,000 525,000 A 165,000
Ot AN LI YA DXA 360,000
2SS HINYZAHENESXR 45,000 35,000 10,000
307 glz2+ol & 45,000 35,000 10,000
04 QIZFHALAIH E = 45,000 35,000 10,000
OZ S HINLZAHEHNES KA 45,000
AR A ZMESHT] 93,600 0 93,600
201 Let24E] 93,600 0 93,600
01 At 22l 93,600 0 93,600
Opt=2Hl 93,600
OMNSAZMEFXE 93,600
0 ES A BT 17,510,858 18,078,440 A 567,582
= 3,348,452




AR sEMNRER SN SRS
M MEZ=sHZ SN D
CHol: R0 K2 A 4D B2 CH CER-ED
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
Jl 4,117,970
< 10,044,436
ANEJUHUHNUHXZZANEESKA 2,897,755 3,626,450 AT28,695
= 1,998,452
< 899,303
403 X SHHSA=0l& 2,897,755 3,626,450 AT28,695
= 1,998,452
< 899,303
01 HIXSHMA2E X 2,897,755 3,626,450 AT28,695
OAE2UMEUXZ2ZAEES XA 2,897,755
= 1,998,452
= 899,303
ANEAUHS HaH R 1,584,064 3,390, 100 A 1,806,036
J| 1,092,458
< 491,606
403 MtXISHE X201 E 1,584,064 3,390, 100 A 1,806,036
J| 1,092,458
< 491,606
01 X SHHX2E = 1,584,064 3,390, 100 A 1,806,036
OALE20stat XA 1,584,064
J| 1,092,458
= 491,606
MERWZ0HICTESE & A X & 161,791 639,450 ANATT,659
J| 111,580
< 50,211
403 A X EHHS 20l A 161,791 639,450 ANATT,659
J| 111,580
< 50,211
01 X HHMA=2LE L 161,791 639,450 ANATT,659
OANE20=0tICTESE AN & 161,791
J| 111,580
< 50,211
DEHIJLS THEHAI & X & 645,151 870,000 N 224,849
J| 444,932
= 200,219
403 XSS A0l & 645,151 870,000 A 224,849
J| 444,932
< 200,219
01 AXSHMA2E X 645,151 870,000 A 224,849
ODFHI OIS THUHAIE KT & 645,151
J| 444,932
< 200,219
HUSHSHSRESHMATSAY (MK K SAIL) 817,050 869,700 A52,650
J| 628,500
< 188,550
403 XIS S X201 & 817,050 869, 700 A 52,650




AT SENRS=2 SN HEBZSAD
Ha: AEYSAYWARD
CHol: R0 K2 A 4D B2 CH CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
Jl 628,500
< 188,550
01 AXISHHA=2E = 817,050 869, 700 A 52,650
OJftstdEad2sSHARSAY (AXH2A
&) 817,050
J| 628,500
< 188,550
AlsMSHN2RENATSAL(NS+STUHE) 52,650 0 52,650
J| 40,500
= 12,150
403 XSS A=0l& 52,650 0 52,650
J| 40,500
< 12,150
01 AXISHHA=2E = 52,650 0 52,650
OfdsdEad2ssHASAL (N2
2) 52,650
J| 40,500
< 12,150
HAS(Ols)Ect=HANEX S 2,340,000 0 2,340,000
J| 1,800,000
< 540,000
403 Ut SHHSA=0l& 2,340,000 0 2,340,000
J| 1,800,000
< 540,000
01 HXSHMA2E X 2,340,000 0 2,340,000
OMAR(OIs)Ect=EAMNEXH 2,340,000
J| 1,800,000
< 540,000
gaAES2sZIMSLXA 1,674,000 0 1,674,000
= 1,350,000
< 324,000
403 MtXISHHE X201 E 1,674,000 0 1,674,000
= 1,350,000
< 324,000
01 X SHHAN2Ex 1,674,000 0 1,674,000
ODgasssdgdMsdid 1,674,000
= 1,350,000
< 324,000
2O ZS A B HAIE =T 16,000 16,000 0
201 Let249H] 9,000 9,000 0
01 At 22l 9,000 9,000 0
Oggt=2tl 5,000
ORN=2oEENEZRAUS 5,000
[E=3=3:] 4,000
OHM=S A Bt S Al 4,000




AT SENRS=2 SN HEBZSAD
Ha: AEYSAYWARD
CHRl: 20| XS A4 B Y CERED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
202 o4 | 7,000 7,000 0
01 2L I 7,000 7,000 0
[(JsHALESTHHH S =& 7,000
A2SERSEHNSE 5,670,000 4,730,000 940,000
403 XX SHHS K20 & 5,670,000 4,730,000 940,000
01 XIS A=Z2E X 5,670,000 4,730,000 940,000
OddASHSELEIE 5,370,000
O2EHA - LdIMESEXNA 300,000
QNI UARS2EMAH 500,000 500,000 0
308 XAHXIEHSOIA 500,000 500,000 0
01 AIXSHMEAMNEX= 500,000 500,000 0
OFAMS USRS 2E S0 500,000
HASMAMOIET| KA (2R FH ) 1,026,397 0 1,026,397
308 XNHXIGH SO0l & 1,026,397 0 1,026,397
01 AIKISHHENMNEXZ 1,026,397 0 1,026,397
ORHASMAOHAE X & AL 1,026,397
HASEHEAIZHE LAl A 15,000 0 15,000
303 ZAZ2 15,000 0 15,000
01 ZAZ 15,000 0 15,000
OMMASESSHAI T OLAl A 15,000
Dt=F0Es20MWA2=2 XA 12,000 0 12,000
308 XX SHHSOIH 12,000 0 12,000
01 AIXSHMENEXZ 12,000 0 12,000
O0sF:0E32 X=X 12,000
IZHSHEDHX AN ZTHEHEF A AIE XA 99,000 0 99,000
403 XX SHHS K20 & 99,000 0 99,000
01 XIS AZ2E X 99,000 0 99,000
OJI&=8HSHSDHXMA BT B AE TS 99,000
AL - ESMNEFY 2,995,600 1,934,000 1,061,600
J| 1,653,000
= 1,342,600
ESXUS(QA)MAANLBHZXH 198,650 130,500 68, 150
J| 137,000
& 61,650
403 XX SHHS K20 & 198,650 130,500 68, 150
J| 137,000
& 61,650
01 XIS A=Z2E X 198,650 130,500 68, 150
[JESXHS(QUA)MAALSSHS XA 198,650




raox nx

2 SEURESI SN HBAS
B HBHSABHAN D
o UF - SBNBKY

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2

Jl 137,000
< 61,650

ESHS(HA ASHS )M MAIZSE A 291,450 290,000 1,450
J| 201,000
< 90,450

403 UHXSHHSA=0l& 291,450 290,000 1,450
J| 201,000
< 90,450

01 HXSHMA=E X 291,450 290,000 1,450
SEXNS(HA ASAS)MMALSEUSA R 291,450
J| 201,000
< 90,450

QI MARSAIEE ALY 420,000 0 420,000
J| 300,000
< 120,000

403 UtXISHH S A0l & 420,000 0 420,000
J| 300,000
= 120,000

01 X SN2 L= 420,000 0 420,000
OoaMMSSAEdE XA 420,000
J| 300,000
< 120,000

QIMMAMSSALSUHAIY (24 24,000 0 24,000
J| 15,000
< 9,000

308 MtXIEHSOIH 24,000 0 24,000
J| 15,000
= 9,000

01 HXNHHBHELS 24,000 0 24,000
OMMMSSALSEUHS XA (EY) 24,000
J| 15,000
< 9,000

AZHSAMASFXNALAHAH AL 1,300,000 0 1,300,000
J| 1,000,000
< 300,000

403 XSS =0l & 1,300,000 0 1,300,000
Jl 1,000,000
< 300,000

01 XM A2E X 1,300,000 0 1,300,000
OAEANSMAS XL A ALY 1,300,000
J| 1,000,000
< 300,000

L2 Ofl M OFE A 4K 2 62,500 62,500 0

307 21201 A 62,500 62,500 0

02 HAFHAANHEEE 62,500 62,500 0
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A= SFMRER 2A MEtd =g
Ha: AEYSAYWARD
S FRYDLZUULDEILEY CERED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Ei HR=2
Og=2e| X 95,000
= 95,000
RPCH =N & A& X & 2,561,600 1,975,000 586,600
= 2,366,000
= 195,600
403 XX SHHS K20 & 2,561,600 1,975,000 586,600
= 2,366,000
& 195,600
01 XIS A=2E X 2,561,600 1,975,000 586,600
CORPCAHX M & AIA X & 2,561,600
= 2,366,000
= 195,600
DNEAMBHCSLH(WSELZHLEE) 19,500 19,500 0
= 15,000
o= 4,500
308 XX SHHSOIH 19,500 19,500 0
= 15,000
o=} 4,500
01 AIXSHMEMNEX= 19,500 19,500 0
OJDNEZMNSBUHESH(NESESAHLE) 19,500
= 15,000
& 4,500
Ol AHAX - 2E XS 130,000 0 130,000
= 100,000
& 30,000
308 XX G SOl A 130,000 0 130,000
= 100,000
& 30,000
01 AIKISHEMNEXZ 130,000 0 130,000
OelolAsaxed X 130,000
= 100,000
o= 30,000
RPCEZEANAESUBHAIA 246,000 135,000 111,000
403 XX SHHSK20| & 246,000 135,000 111,000
01 XHHE2E =X 246,000 135,000 111,000
ORPCEEZ= A ES U AI& 246,000
MAHSHNESZHHO XA 96,000 90,000 6,000
307 2I2t0| ™ 96,000 90,000 6,000
02 DIZHEAAIE E X 96,000 90,000 6,000
OAAHESAESEHHOI XA 96,000
AEMLLLAHAHCESHOIAHNE XS 18,000 18,000 0
308 XX G SOl A 18,000 18,000 0
01 AIXSHMEMNEX= 18,000 18,000 0
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N = 0l & At & Ml A

SEMRS= EM sENL Y
2ICHAE=XsHED IR SH
OlHEsOHENSTHNE (Sl & &)
- _ — d =
RRA B BN NRAY - BES 0l &k o4 e HlnE2
JH 2t 207,840,719 241,524,611 A 33,683,892
= 29,271,000
Xl 158,417,000
= 20,152,719
2ICHAE =N sHEIIR RS 206,875,296 240,532, 356 A 33,657,060
= 29,271,000
Xl 158,417,000
< 19,187,296
OlcHE sUHE0tS O 126,543,556 171,076,556 A 44,533,000
= 4,304,000
Xl 121,293,000
= 946,556
SENESSULSFINE (SEHOSITL) 5,330,000 7,910,000 A 2,580,000
Xl 4,520,000
= 810,000
403 A X EHHS =0l A 5,330,000 7,910,000 A 2,580,000
Xl 4,520,000
< 810,000
01 X EHH A= LE XL 5,330,000 7,910,000 A 2,580,000
SENA =SSO NS (sEHOHBEEH)(
XS &) 5,330,000
Xl 4,520,000
< 810,000
OlcHE=sHE0IS ML =X 129,556 29,556 100,000
201 Let2d] 107,300 7,300 100,000
01 At 22l 107,300 7,300 100,000
Ogpt=2Hl 102,300
OLEsSUUHENLIRHEATE RS 2,300
OsZHEMIEEE 100,000
O2g=¢ 5,000
OstHENEMIMAAZ ST AL AAISE 5,000
202 4dl 12,256 12,256 0
01 = LH A HI 12,256 12,256 0
O=sZ0SSENHLHRFAN 12,256
308 XX EHSOIA 10,000 10,000 0
10 3J/2S0HUHeBA&EEALS I 10,000 10,000 0
OsENgYsgIEdas 10,000
ARSI Y 8,306,000 24,137,000 A 15,831,000
Xl 8,306,000
403 MtXISHH S0l & 8,306,000 24,137,000 A 15,831,000
Xl 8,306,000
01 X S22 = 8,306,000 24,137,000 A 15,831,000
OASHASE ML (XNSAIZ) 8,306,000




MM 2ICHE SR S0 EI S
el DicHEsOHEMSHN L (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET

| Al 8,306,000

OISEHASE N 2,287,000 3,187,000 900,000
X 2,287,000

403 UHXISHHSA=0l& 2,287,000 3,187,000 900,000
X 2,287,000

01 HXESHHMA=E X 2,287,000 3,187,000 A 900,000
O0SH/ASEMNL (NS AZ) 2,287,000
Xl 2,287,000

HA - OISHASSMLFA 7,000 7,000 0

202 o4dl 7,000 7,000 0

01 = LH o4 1l 7,000 7,000 0

OFZEHOISUSIIZE (Y - OSSN

)01 bl 7,000

SESHNELS(LEXR) 59,279,000 93,813,000 A 34,534,000
Xl 59,279,000

403 XM SA=0l& 59,279,000 93,813,000 A 34,534,000
X 59,279,000

01 HXSHMA=E X 59,279,000 93,813,000 A 34,534,000
OsEsd X8 (LeXNR)(XNSEAZ) 59,279,000
Xl 59,279,000

SESHUNELES(HEZXR) 9,081,000 9,405,000 A 324,000
Xl 9,081,000

403 MHtXISHHE X201 H 9,081,000 9,405,000 A 324,000
Xl 9,081,000

01 XM A2EE 9,081,000 9,405,000 A 324,000
OsEsdXNgHsH(HEXR)(XNEANZ) 9,081,000
Xl 9,081,000

sESHUNELSH(SEEXNT) 714,000 0 714,000
Xl 714,000

403 A X EHHS =0l A 714,000 0 714,000
Xl 714,000

01 X EHHMA=LE L 714,000 0 714,000
O=sEsdNgdsH(SEXNR)(NEAZ) 714,000
Xl 714,000

OrSERAM A0S 1,583,000 5,962,000 A 4,379,000
X 1,583,000

403 UHXSHHS =0l & 1,583,000 5,962,000 A 4,379,000
Xl 1,583,000

01 HXSHMA=E X 1,583,000 5,962,000 A 4,379,000
Ootse=1a Aot (NSAI) 1,583,000
Xl 1,583,000

Jl=Meolme(Mastd ) 15,862,000 7,832,000 8,030,000
Xl 15,862,000




A=
EE B E S I ESIFIEE
el DicHEsOHEMSHN L (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
403 UHXSHHSA=0l& 15,862,000 7,832,000 8,030,000
X 15,862,000
01 HXHMA=LE X 15,862,000 7,832,000 8,030,000
OJl=Mgolmpt (M d A ) (NSAZ) 15,862,000
Xl 15,862,000
CAIME AL (MEEFH) 1,534,000 1,374,000 160,000
Xl 1,534,000
403 XSS A0l & 1,534,000 1,374,000 160,000
Xl 1,534,000
01 XM A=2EE 1,534,000 1,374,000 160,000
OSAMEHNE (M FH ) (NSAZ) 1,534,000
Xl 1,534,000
A Z2[(0tOICI ALY 2,842,000 5,647,000 A 2,805,000
Xl 2,842,000
403 RXISHSKH=0l & 2,842,000 5,647,000 ~2,805,000
%l 2,842,000
01 X SHHX2E = 2,842,000 5,647,000 A 2,805,000
OATZ2 (OLOICIH ALY ) (RIS AlZ) 2,842,000
Xl 2,842,000
ANZEO(HEXSAY) 1,024,000 1,076,000 A52,000
Xl 1,024,000
403 UHXSHHSA=0l& 1,024,000 1,076,000 A52,000
Xl 1,024,000
01 X ESHHMA=LE L 1,024,000 1,076,000 A 52,000
OANZEA(FEXSAG)(XANSAZ) 1,024,000
Xl 1,024,000
ANz &2 st 1,027,000 1,050,000 A 23,000
Xl 1,027,000
403 XIS E =0l & 1,027,000 1,050,000 223,000
Xl 1,027,000
01 HAXSHMA=2EE 1,027,000 1,050,000 A 23,000
OAMNZLL3H(XNSAZ) 1,027,000
Xl 1,027,000
OISCHelad (S 2ME) 13,234,000 5,715,000 7,519,000
Xl 13,234,000
403 A X EHHS =0l A 13,234,000 5,715,000 7,519,000
Xl 13,234,000
01 AXSHHMA2E = 13,234,000 5,715,000 7,519,000
OSB3 (24 (XSAIZ) 13,234,000
Xl 13,234,000
I NsEZSMEANHAMG(XH) (A 860,000 786,400 73,600
= 860,000




4T SEHURER SN EENLD
EE B E S I ESIFIEE
&2 DIcHEsSHEOS MY (&)
2. 2A B E(AN) - MEAY - BYS 0l &t o8 il HlnE2
308 XXM SO0 A 860,000 786,400 73,600
= 860,000
01 HIXNHHBHEELS 860,000 786,400 73,600
OJ|S=ET 2 MEAHAS (B 4) 860,000
= 860,000
BIM=sELZHEANHAMS (XA)(X2) 3,444,000 3,145,600 298,400
= 3,444,000
403 XSS A0l & 3,444,000 3,145,600 298,400
= 3,444,000
01 XM A=2EE 3,444,000 3,145,600 298,400
OEJI#=ETZ2MEANGAG (XH2) 3,444,000
= 3,444,000
FE=sEEx3S 23,364,800 15,974,800 7,390,000
= 3,600,000
Xl 18,104,000
= 1,660,800
St UiHI 0L (K1) 4,050,000 2,700,000 1,350,000
= 3,600,000
= 450,000
403 XSS X201 & 4,050,000 2,700,000 1,350,000
= 3,600,000
< 450,000
01 X SHHMA2E X 4,050,000 2,700,000 1,350,000
Oste S22 (X3) 4,050,000
= 3,600,000
< 450,000
St Bl E 002 (RHA) 1,200,000 1,200,000 0
403 UHXSHHSA=0l& 1,200,000 1,200,000 0
01 HXESHMA=LE L 1,200,000 1,200,000 0
OS2 HHl S =002 (XHAl) 1,200,000
OHEEsESETMEFA 10,800 10,800 0
201 LBt 1,300 1,300 0
01 At 22l 1,300 1,300 0
O3l 1,300
OsZExlggRAENERAUS 1,300
202 O4dl 9,500 9,500 0
01 =S LHA YI 9,500 9,500 0
OsEEHLYRFAL 9,500
=M T (R EE2MY) 8,332,000 5,867,000 2,465,000
Xl 8,332,000
403 MHXISHHE X201 & 8,332,000 5,867,000 2,465,000
Xl 8,332,000




raox nx

2 SENRER
B CHAERN SOE) TS
9 HHESESLTI

AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
01 HXSHNMAHEE = 8,332,000 5,867,000 2,465,000
I Z=MEOTHRNELELME)NXNEAZ) 8,332,000
Xl 8,332,000
JIZMEQITI (sHsEMESHINYE) 3,365,000 1,710,000 1,655,000
Xl 3,365,000
403 XX S M S K201 A 3,365,000 1,710,000 1,655,000
Xl 3,365,000
01 MXSHHE2BE = 3,365,000 1,710,000 1,655,000
OJIZMEQ I (SESsEMEELNLY)(XE
AlZ) 3,365,000
Xl 3,365,000
I ZMENTH(ARDEHIHY) 6,407,000 4,487,000 1,920,000
Xl 6,407,000
403 XX S M S X201 A 6,407,000 4,487,000 1,920,000
Xl 6,407,000
01 MXHHANE2BE = 6,407,000 4,487,000 1,920,000
OJIZMENIZH(ARR2ELINE)(XNSEAD) 6,407,000
Xl 6,407,000
IIHSG sI| 8 &S 37,409,800 34,183,800 3,226,000
= 21,367,000
Xl 15,364,000
o= 678,800
I ZMEONZ (I HSGIHZEEE) 2,692,000 3,809,000 A 1,117,000
Xl 2,692,000
403 XX S M S X201 A 2,692,000 3,809,000 A 1,117,000
Xl 2,692,000
01 REXI SRRt 2 X 2,692,000 3,809,000 ~1,117,000
OIZMEB T NS SN2 TE) (XS A
=) 2,692,000
Xl 2,692,000
CAMESHANA D HSI IR 2SI LR 210,000 565,000 A 355,000
Xl 210,000
403 XX S M S X201 A 210,000 565,000 A 355,000
Xl 210,000
01 RXSH K== 210,000 565,000 ~355,000
OSAMESZHAOINSERZHTY) (XS
AlZ) 210,000
Xl 210,000
St (&I 2tAEH]) 9,226,000 7,868,000 1,358,000
Xl 8,582,000
& 644,000
403 XX S M S X201 A 9,226,000 7,868,000 1,358,000
Xl 8,582,000
& 644,000




4T SEHURER SN EENLD
EE B E S I ESIFIEE
el JASE SIS (Sl & &)
224 - BB SAEH) - MPAY - BES 0l &t o il HREZ
01 AR SHHA 2L 9,226,000 7,868,000 1,358,000
OsoIer 8 (2183 ) (NS EHl) 9,226,000
Xl 8,582,000
< 644,000
Bi=OH e (R E) 8,500,000 8,500,000 0
= 8,500,000
402 212t X201 & 8,500,000 0 8,500,000
= 8,500,000
02 RIZE X2 AL EZ (01X ) 8,500,000 0 8,500,000
ObH==HE (RE) 8,500,000
= 8,500,000
i == (K1) 12,867,000 7,191,000 5,676,000
= 12,867,000
403 TtXI M S A =01 A 12,867,000 7,191,000 5,676,000
= 12,867,000
01 AXISHHA =22 = 12,867,000 7,191,000 5,676,000
ObH==a (RI&) 12,867,000
= 12,867,000
SIS EH (A2 =) 3,880,000 2,180,000 1,700,000
Xl 3,880,000
403 AXSHHSXH=0lA 3,880,000 2,180,000 1,700,000
X 3,880,000
01 AR SHHA =22 x 3,880,000 2,180,000 1,700,000
O=sgletEul(A A2 =&) (XS ) 3,880,000
Xl 3,880,000
A SIS F A 34,800 16,800 18,000
201 fEt2E | 1,300 1,300 0
01 AP 22l 1,300 1,300 0
pt==Hl 1,300
OsglIgtzgAHe e RS 1,300
202 04l 9,500 9,500 0
01 SLHOYI 9,500 9,500 0
OsgYIB L8 RFT0H 9,500
203 ¥R =&l 5,000 4,800 200
03 Al =AY R =& 5,000 4,800 200
Os&Eggexd 5,000
303 22 19,000 1,200 17,800
01 243 19,000 1,200 17,800
OsENgINELEAMLFTIRSSRIL N2
Al &t 19,000
THGH CHHI <=2l Al & I 19,557,140 19,297,200 259,940




2ICHAE=XsHED IR SH
THoH CHHI =2l Al & E I

2 - 4
224 ZH - SA(B) - NEA 0l &t o e 2
Al 3,656,000
< 15,901,140
SIS (ALl AIEHE =) 3,656,000 4,964,000 A 1,308,000
X 3,656,000
403 XA S =0l & 3,656,000 4,964,000 A 1,308,000
X 3,656,000
01 X SHMA2E X 3,656,000 4,964,000 A 1,308,000
O=YIIetEEl (A2l A8 3,656,000
Xl 3,656,000
THoH Ol &= = =2l Al & Z I 5,000,000 5,000,000 0
403 MtXISHHE X201 E 5,000,000 5,000,000 0
01 RXSH XL 5,000,000 5,000,000 0
OMoiolg == s=clAl& &l 5,000,000
2R LI HH| 377,000 330,000 47,000
403 XIS E X201 & 377,000 330,000 47,000
01 RXESH K22 =X 377,000 330,000 47,000
O2E A ==I|HH| 377,000
FU=ASHMAAISE D BHE Y 5,796,000 4,344,500 1,451,500
403 Mt SHHSA=0l& 5,796,000 4,344,500 1,451,500
01 X ESHHA=E L 5,796,000 4,344,500 1,451,500
OF0=gsdHLAEIEHEH 5,796,000
CEEMd=XE 3,500,000 ,000 0
403 XSS A=0l& 3,500,000 ,000 0
01 RHXISHHAEEE 3,500,000 ,000 0
O-=AE H =X &l 3,500,000
M=XHEZH 329,000 ,000 20,000
403 MtXISHHE X201 E 329,000 ,000 20,000
01 R SH KL% 329,000 ,000 20,000
OM=XHMg &l 329,000
MN=Xts+=A=ZEIN L 300,000 ,000 84,000
403 A X EHS =0l A 300,000 ,000 84,000
01 X EHHMA=LE L 300,000 ,000 84,000
OXd=XNs+=/=SHEIELEX 300,000
M=X3Letd &l 486,000 ,000 A 135,000
403 XA SA=0l& 486,000 ,000 A 135,000
01 HXHMA=E X 486,000 ,000 A 135,000
OXd=X&2ot™ &l ch 486,000
THoH CHEl ==l AIE B HI =& 113,140 ,700 100,440
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A & 0l & AF 2 E A A
20188 = =0l &b 2 BHSI A M
42 s54RER SN EMFHD
HE: ENAUTAY
SRl BAMFHAY (B9 ®R)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
SAE MY 39,839,094 40,160,400 A 321,306
= 10,000
J| 18,180,020
= 21,649,074
SMTYEEAMS 35,759,594 39,044,100 A 3,284,506
= 10,000
J| 18,180,020
< 17,569,574
SLE ALY 9,385,230 9,615,090 A 229,860
J| 7,780,699
< 1,604,531
SMAESESEUHEALS 1,893,390 1,685,500 207,890
J| 1,893,390
403 XIS E X201 & 1,893,390 1,685,500 207,890
J| 1,893,390
01 AXSHHMA2E = 1,893,390 1,685,500 207,890
OSAMAIESE U ALY 1,893,390
J| 1,893,390
SAZ20HCTE S & 8ot 2,200,000 2,184,500 15,500
J| 2,200,000
403 Mt SHHSA=0l& 2,200,000 2,184,500 15,500
J| 2,200,000
01 HXESHMA=LE L 2,200,000 2,184,500 15,500
OFAZ0FICTES =& &t 2,200,000
J| 2,200,000
StNeRISAXA 4,178,950 4,312,900 A 133,950
J| 3,687,309
< 491,641
308 XXM SOl A 4,178,950 4,312,900 A 133,950
J| 3,687,309
< 491,641
01 IXNSHHBNEES 4,178,950 4,312,900 A 133,950
OetnersaAXE 4,178,950
J| 3,687,309
< 491,641
SUFHHLLES 431,090 474,390 A 43,300
201 Let24d] 30,100 74,000 243,900
01 At 22l 27,600 65,000 A 37,400
Opt=2Hl 16,400
OFUAMNIHEHLABSUNELE RS 11,700
OARESL A=A 4,700
O=gl 11,200
OBUFHE22XS A 11,200




4= s54RS3 SN EMFHD
M SMALHEAS
SHol: BATEAY (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2

03 A2 I 2,500 5,000 A 2,500
mEWEEPE-TEET 2,500

202 (44l 30,000 30,000 0

01 S LHOYI 30,000 30,000 0
OFMARFA N 30,000

203 B R =&l 14,000 13,400 600

03 AIMZ=XH =AY 14,000 13,400 600
OsugRFa 5,000
OSMYFBARDYLFR 9,000

301 LB A F 5,000 5,000 0

09 EALAHIE &S 5,000 5,000 0
OB AN DS SE IS A 5,000

308 XX EHHSOIA 351,990 351,990 0

01 HIXNHHBNEES 351,990 351,990 0
OMF=H 282X 337,500
SAZAQIGHS A DO A 14,490

=X 631,800 669,800 /38,000

308 MtXIEHMSOIH 181,800 182,000 2200

01 HXNHHNBHELS 181,800 182,000 A 200
ORAFESEMNSAMS 117,000
SHsEH(ZR0)X A 64,800

403 A X EHHS =0l A 450,000 487,800 A 37,800

01 X EHHM A= LE L 450,000 487,800 A 37,800
OYsII MR 450,000

SO ALK A 50,000 88,000 /38,000

307 gl2tol & 50,000 88,000 /38,000

04 DIZHHALALSE E X 50,000 88,000 /38,000
OFAEHAE S A 50,000

SMFSAY 6,742,550 6,738,890 3,660
= 10,000
J| 15,000
< 6,717,550

QXN ZHssEHE ALY 19,500 19,500 0
J| 15,000
< 4,500

308 XXM SO A 19,500 19,500 0
J| 15,000
< 4,500

01 IXNHHBNEES 19,500 19,500 0
Os*+s=slt2=2 19,500




42 s54RER SN BEMFBDY
HE: ENAUTAY
SRl BAYYAY CERED
L=
AR .24 FHH .G (3H) - HEAY - BES Ol &F o4 ﬁlgﬁ HRE2

Pl 15,000
& 4,500

TALSKA 10,000 0 10,000
= 10,000

308 NXIEHSOIA 10,000 0 10,000
= 10,000

01 AIXSHMENMNEX= 10,000 0 10,000
OSAIEEXNH 10,000
= 10,000

2ASLEHE XA 1,496,000 1,244,500 251,500

307 2iz2to| A 556,000 556,000 0

02 QIZIA AAIE E X 556,000 556,000 0
J&dstEH s A5 16,000
Ogti1I=ssct&dd=21d 540,000

308 XHXIEHSOlA 90,000 90,000 0

01 AIXSHMEMNEX= 90,000 90,000 0
OZ3MEE=24 (DNA) X & 90,000

403 XX SRS K 20| & 850,000 598,500 251,500

01 MXHHE2BE =X 850,000 598,500 251,500
OsatsItat 3N & Hl X & 850,000

SHRIHSFALS 948,810 961,650 N 12,840

308 XX SHHSOIH 948,810 961,650 A 12,840

01 AIXSHMENMNEXZ 948,810 961,650 N 12,840
O A s 2™ ALY 519,000
O3S0l A AL 121,410
OsteHeHASNSY 308,400

SO0FKI A AFOFA AL 93,000 450,000 A 357,000

308 AXIEHMSOIA 93,000 90,000 3,000

01 AIXSHMEMNEX= 93,000 90,000 3,000
[JSO0FAI M AFOFA AF S 93,000

A=EX& A 360,200 480,800 A 120,600

308 XHXIEH SO0l & 315,400 436,000 A 120,600

01 AIKISHHEMNEXZ 315,400 436,000 A 120,600
=2 AAY 280,000
COFEAEIIEE AR 35,400

403 XX SHHS K20 & 44,800 44,800 0

01 XIS A2E X 44,800 44,800 0
IS AFSHIH OF & Al A & X & 44,800

kA X & A 400,000 361,800 38,200




42 sEuRs= SN SaZMD
Hu: SMYUHAY
SRl SMFYAY CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
308 X EHSOIA 400,000 361,800 38,200
01 HIXNHHBHNEELES 400,000 361,800 38,200
OSAH3HS 235 400,000
LS NE ALY 600,000 570,900 29,100
308 XXM SO0l A 600,000 570,900 29,100
01 IXNHHBNEES 600,000 570,900 29,100
Oxs38sa 25t 600,000
SMSsIHA 1,700,140 1,617,840 82,300
403 MHXISHEA=01 & 1,700,140 1,617,840 82,300
01 XXM 22 = 1,700,140 1,617,840 82,300
O=MsHIINMIA 1,300,140
O == Uloh Y XX 400,000
SHREH ALK& 140,000 144,500 24,500
307 glz2tol & 20,000 24,500 A 4,500
04 QIZFHALAIH E = 20,000 24,500 A 4,500
=5 2010 L8 ALK & 20,000
308 MtXIEHSOIH 120,000 120,000 0
01 X HHILEXS 120,000 120,000 0
Oetesd3dUsl 120,000
INI=F g DR 900,900 887,400 13,500
308 AHAIEHHSOIA 900,900 819,000 81,900
01 HXNHHBMNEELS 900,900 819,000 81,900
OIS} EMSEHILMX A 900,900
S+ 2E 74,000 0 74,000
307 glz2tol & 30,000 0 30,000
04 QIZFHALAIH 2 = 30,000 0 30,000
O=saSotAtEUR = 30,000
308 XtXIEHH SOl A 44,000 0 44,000
01 X HHILEES 44,000 0 44,000
OFMUSAHESIHAMIRZ 44,000
S F LAY 12,189,577 16,001,120 A 3,811,543
J| 6,558,746
< 5,630,831
IMNSHMASAIL XM XS 3,200,000 6,249,600 A 3,049,600
J| 2,000,000
< 1,200,000
308 MXIEHSOIH 3,200,000 6,249,600 A 3,049,600
J| 2,000,000
< 1,200,000




H

il
x
A
z
0

J2

]

FERCE L g o
HE: ENAUTAY
Sl HBASMAY (B9 ®R)
L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
01 HIXNHHNBHNEES 3,200,000 6,249,600 A 3,049,600
OXAMS M AL el XM EH 3,200,000
J| 2,000,000
< 1,200,000
EMSHMASENHAL X 1,540,000 1,486,800 53,200
J| 1,100,000
< 440,000
308 XXIEHH SOl A 1,540,000 1,486,800 53,200
J| 1,100,000
< 440,000
01 AXHHILEES 1,540,000 1,486,800 53,200
OXMSHEMESTHAL 1,540,000
J| 1,100,000
S 440,000
IMNSBSEACXNE 159,783 126,360 33,423
J| 122,910
< 36,873
308 MtXIEHMSOIH 159,783 126,360 33,423
J| 122,910
< 36,873
01 HXNHHNBHELS 159,783 126,360 33,423
OxEMESEZe XA 159,783
J| 122,910
= 36,873
HEHANL S AL RMEXA 1,240,000 1,293,320 A 53,320
J| 1,000,000
< 240,000
308 XX EHHSOIA 1,240,000 1,293,320 A 53,320
J| 1,000,000
< 240,000
01 IXNHHBNEES 1,240,000 1,293,320 A 53,320
O8SHNELES AL XN MEXE 1,240,000
J| 1,000,000
< 240,000
H2HN=LdESUHP2LX 117,000 162,500 A 45,500
J| 90,000
< 27,000
308 XX EHH SOl A 117,000 162,500 A 45,500
J| 90,000
< 27,000
01 X HHILEES 117,000 162,500 A 45,500
ONdBHNZLdSSUHALXE 117,000
J| 90,000
< 27,000
dEHAXZLEELZELSAA 60,515 52,000 8,515




SEMRS= M SMFEAY
S0 QY ALY
HEB LAY el xel)
= - — SHE|
2RI BIEH) - HRAY - BES e Hl D= 2t
Il 46,550
< 13,965
308 XXIEH S0 A 60,515 52,000 8,515
9] 46,550
< 13,965
01 HIXNHHBNEES 60,515 52,000 8,515
Od2HN L ELISUHESXE 60,515
J| 46,550
< 13,965
HEHNZLEINHEE AL XA 87,000 87,000 0
| 60,000
< 27,000
403 XIS S X201 & 87,000 87,000 0
| 60,000
< 27,000
01 AXSHMA2E = 87,000 87,000 0
OSSN LESINHBH 2L 87,000
| 60,000
< 27,000
ZASEMAZIIHEH 2L 304,000 469, 300 A 165,300
J| 160,000
< 144,000
403 Mt SHHSA=0l& 304,000 469, 300 A 165,300
J| 160,000
< 144,000
01 XM A=E X 304,000 469,300 A 165,300
OZAMSMASIIAHEZH 2L X 304,000
| 160,000
< 144,000
MTNMEHSMASZEZANELEXH 21,411 0 21,411
| 21,411
308 XXM S0l A 21,411 0 21,411
| 21,411
01 IXNHHBNEES 21,411 0 21,411
OdXYHsSasE=NZLEXS 21,411
J| 21,411
MM SMAsHALE TR 7,350 0 7,350
| 6,000
= 1,350
308 XtXIEHHSOIA 7,350 0 7,350
| 6,000
< 1,350
01 X HHILEXS 7,350 0 7,350
OMX M sSt=sEALE XA 7,350
| 6,000




H
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x
A
z
0
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A= SRMURS £ &t
HE: ENAUTAY
Sl HBASMAY (B9 ®R)
L5
224 - BB SAEH) - MPAY - BES 0l &t o il HREZ
| =) 1,350
NEZ L BYI ALY XA 942,500 845,000 97,500
J| 725,000
< 217,500
308 AHXIEHHSOIA 942,500 845,000 97,500
J| 725,000
< 217,500
01 HXNHHNBHNEELS 942,500 845,000 97,500
OS2 oMY 4 ZH X2 942,500
J| 725,000
= 217,500
I=EEHHISHAIA 601,250 819,000 A217,750
J| 462,500
=) 138,750
403 A X EHHS =0l A 601,250 819,000 A 217,750
p] 462,500
=) 138,750
01 AXISHHA=2E = 601,250 819,000 A217,750
O =2 2 & XY oK & 601,250
Jl| 462,500
< 138,750
I=EaBNE=XH 263,218 130,000 133,218
J| 202,475
< 60,743
403 A X EHHS =0l A 263,218 130,000 133,218
J| 202,475
< 60,743
01 AR SHHA =22 = 263,218 130,000 133,218
D=3+ X2 263,218
J| 202,475
=) 60,743
II=E2aHMelAEAdFH NS XA 101,400 101,000 400
J| 78,000
S 23,400
403 AXHHSXH=0lA 101,400 101,000 400
J| 78,000
& 23,400
01 AR SHHA 2L = 101,400 101,000 400
OS2 HMelAEAdFHNZ X 101,400
J| 78,000
< 23,400
FHENSEZEMAANLEEHXR 76,700 161,000 A 84,300
J| 65,000
=) 11,700
403 A X EHHS =0l A 76,700 161,000 A 84,300
J| 65,000




42 s54RER SN BEMFBDY
HE: ENAUTAY
C FEIF LAY (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
< 11,700
01 XM A2E X 76,700 161,000 A 84,300
OFHENSsE5delAN&EE X 76,700
J| 65,000
< 11,700
HHMEEXE 550,550 297,000 253,550
J| 314,600
= 235,950
403 XIS E X201 E 550,550 297,000 253,550
J| 314,600
< 235,950
01 X SHHA2E= 550,550 297,000 253,550
DM HE X 550,550
J| 314,600
= 235,950
HH RSHE XA 90,000 270,000 A 180,000
J| 60,000
< 30,000
403 UHXSHHSA=0l& 90,000 270,000 180,000
Jl| 60,000
< 30,000
01 HXSHMA=E X 90,000 270,000 A 180,000
O%blssdEsxA 90,000
J| 60,000
< 30,000
NS AT ALY 831,040 708,400 122,640
307 glz2+ol & 50,000 50,000 0
02 QB LA EE 50,000 50,000 0
O=EMZHI =25 50,000
308 XtXIEHHSOIA 302,240 179,600 122,640
01 HXNHHNBHELS 302,240 179,600 122,640
O=ZMSHEHEHI=EL 146,000
OBIAED I SHI XA 9,600
OHMMsItAtE 2 S X2 146,640
403 MHXSHHSA=0l& 478,800 478,800 0
01 HXSHMA=E X 478,800 478,800 0
OXZAIZ M AZHI X2 478,800
S EZ LR E ALY 1,938,270 1,127,640 810,630
308 XXM SO A 494,970 248,640 246,330
01 HIXNHHBNEES 494,970 248,640 246,330
LR s&SEXA 273,000
OXSBSMSASH X 74,970




A2 sEA4RER SHEAEY
Hu: SMYUHAY
Sl AEABAAY (B9 ®R)
- _ — d =
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OB HNH2Z MR 147,000

403 MHXISHHE X201 E 1,443,300 879,000 564,300

01 X SHHA2E = 1,443,300 879,000 564,300
OANEZESUMESET I EAEY 147,000
ONSENHI MAAILT A 579,000
OXRAMA=xXel X2 489,000
O=SMAFHMZALRH 15,000
OHHI &0l S22 XA 213,300

dHld2E4 0] 24,050 0 24,050
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< 5,550

403 XIS E X201 H 24,050 0 24,050
J| 18,500
< 5,550
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J| 15,000
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403 X SHHE A0l & 14,040 0 14,040
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Jl| 10,800
< 3,240
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J| 3,825,575
< 3,616,662

St SOHA & 1,909,994 3,603,000 A 1,693,006
J| 1,376,180
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J| 1,376,180
< 533,814
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OMS XM= 22| Xt Rt 9,000
02 2324l 4,000 0 4,000
PN = Fal=gs] 4,000
OlsXNAM=2e Xt s FH 4,000
03 A2 Z Hl 2,500 0 2,500
O==odz3igdeas 2,500
203 YR =&l 5,000 0 5,000
03 AIHF=XH R =AY 5,000 0 5,000
OgAdRFA 5,000
206 M= Hl 200,000 200,000 0
01 =8l 200,000 200,000 0
Olgg4d] 200,000
308 XX EHH SOl A 783,360 732,960 50,400
01 X HHILEES 783,360 732,960 50,400
OFMESSEAAS 204,000
OHZESAI=H XA 300,000
O3=2d+=gX& 279,360
=2 S ALK& 20,000 0 20,000
307 gl2tol & 20,000 0 20,000
02 IS AHE L 20,000 0 20,000
OddisAa2siA 20,000
A2l ALY 3,549,860 ,352,802 A 3,802,942
2 1,948,520
< 1,601,340
Srdsdogd 626,240 626,240 0
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= 313,120
= 313,120
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AR SEURESR SN S22
Ha: SRYHYS
Sl welEelAY (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
= 75,000
= 22,500
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< 315,840
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= 1,052,800
< 315,840
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= 80,000
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J| 1,752,927
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OSMS0/2H (A BEREY) 932,394
J| 717,226
= 215,168
= LM EHACCPH A E 272,636 272,636 0
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||| RENPIEEEE T 1,000
HHSHAH(ZSAIsARA) 2,384,769 2,134,730 250,039
ol 2 A 2,274,321 2,037,064 237,257
ol 2AH| 2,274,321 2,037,064 237,257
101 2121 4| 2,223,981 1,989,844 234,137
01 22 1,052,330 982,441 69,889
oo 769,418
OHEH 150,567
- 42 83,760,000 1H 83,760
-52 66,807,000 1A 66,807
Oz A 559,837
-3 (162 2) 3,292, 700& *3H x12& 118,538
-72(1382) 2,770,200 x8H x12& 265,940
-83 (143 2) 2,551, 700& »3H x12& 91,862
-92(3s ) 1,530,700& 2 x12& 36,737
-HRA (293 2) 3,896,600& x 1P x12& 46,760
(OF =, 559,837,000 1/12%50%*23] 46,654
O&dIZx=4Itat 3 12,360
- 253 0| & 130,000& x 1H x12& 1,560
- 20 0| At254 0] 2F 110,000& *3H x12& 3,960
- 154E 0l &t204 0] B¢ 80,000& x2H x12& 1,920
- 10E 0l &H154 0] 2F 60,000 x6H x12& 4,320
- 5@ 0] &H10& 0] 8¢ 50,000& *1H +x12& 600
O+ 165,043
(@RS = 1,918
-SRI 1,918
ARz
3,896,600 x4 . 1%x1H «12& 1,918
OJHEBEE S 21,497
-EY 17,760
bl < X+ 40,000 x12%8 x12& 5,760
N DNIE 20,000& x6H 128 1,440
= M X 60,000 x7H x12& 5,040
B PE| 100,000& x3YH x12& 3,600
- JIEMIVS 20,000 x8H x12& 1,920
- AEStHI B X G 467 ,0803 x2H 43| 3,737
OE+=222 18,960
-FAEIRE 6,120
=23 50,000& 3 ~12& 1,800
HE 40,000 9 x 128 4,320
-EFYURAYOlsdESY) 5,880
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52 50,000 »1H « 122 600
6-7= 30,0003 x7H«12& 2,520
8= 0l ot 20,0003 »4H « 128 960
JH&EZ (O AL) 30,0003 x2H 128 720
JHA S (AP IIA) 20,000 4 122 960
JrM3(2EEHl) 10,0008 1E 124 120
-E2g2xg(g2gRsSoaY) 6,000
o XNEBZRH 250,000 x2H 128 6,000
-SSP (ERYERSY) 960
HARAXNSRH 80,000 x1H »12& 960
OxzH2R+=EsS 89,701
-AAeZ2RE 89,701
JAHE 11,0743 x10A 2t 15H 128 19,934
= 11,0743 35 A1 2t 15 « 128 69,767
OxM2RHLS(8LA) 32,967
A2 RE
11,0743 «4H «3 Al 2t %3652 *47% 22,797
-FYe2RE 89,0183 x4 119! 24% 10,170
ESRL=Eaull 130,000& 19 » 128 29,640
OFEF0td| 559,837,000% *1/12x60%*23l 55,984
OS2 40|
710,404,000 *1/12%86%*1/30% 19 32,245
02 JIEt& B == 424,276 328,868 95,408
OYI1H 424,276
OgetAIIH 354,887
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A== 46,780,000& +6H 280,680
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-ZE 11,0743 35 A1 2tx6H * 12& 27,907
O&F M Z Al 130,000 x7H «x12& 10,920
O¢ItE &I
354,887,000 *1/12+86%+*1/30*19 16,108
03 RIAHAZ 2B+ 747,375 678,535 68,840
O & At2te] 31,544
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